Problem 1 

The production department of NDB Electronics wants to explore the relationship between the number of employees who assemble a subassembly and the number produced. As an experiment, two employees were assigned to assemble the subassemblies. They produced 15 during a one-hour period. Then four employees assembled them. They produced 25

during a one-hour period. The complete set of paired observations follows.
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The dependent variable is production; that is, it is assumed that the level of production depends upon the number of employees.

a. Draw a scatter diagram.

b. Based on the scatter diagram, does there appear to be any relationship between the number of assemblers and production? Explain.

c. Compute the coefficient of correlation.

d. Evaluate the strength of the relationship by computing the coefficient of determination.

Problem 2

Mr. James McWhinney, president of Daniel-James Financial Services, believes there is a relationship between the number of client contacts and the dollar amount of sales. To document this assertion, Mr. McWhinney gathered the following sample information. The X column indicates the number of client contacts last month, and the Y column shows the value of sales ($ thousands) last month for each client sampled.
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a. Determine the regression equation.

b. Determine the estimated sales if 40 contacts are made.
Problem 3

Listed below is the net sales in $ million for Home Depot, Inc. and its subsidiaries from 1993 to 2002.

[image: image3.emf]
Determine the least squares equation. On the basis of this information, what are the estimated sales for 2005?






















































































































































































































































































































